CALCULUS: ical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy
Chapter 7: (Application gr Definite Integrals 7.1: Integral as Net Change

.

What you'll Learn About

e Theintegral is atool that can be used to calculate net change and total
accumulation
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2 The particle starts af x =2 whent =0.

: \ a) Find the parhclesl‘or the tlrs-
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¢) Find the total distance traveled by the particle.
lolal distance

Tobal Dighance flvmlde
S P R

 ne——— ]

1|Page



No Calculutor

P i,
The functiof v(t) = 16 - 4tidthe velocity inﬂ particle moving
along the x-axis fromni [0)6].

a) Determine when theparticle is stopped and when the particle is

oo moving to the right and left. ¢
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b) Fir&d the particle's dispclacement for the given time interyal.
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hat is the particle's final position?
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d) Find the total distance !ravelqed by the particle. "
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